Absorption Costing


Vs.


Marginal Costing

What’s right for your organisation?

	ABSORPTION COST METHOD
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	PRODUCT
	
	

	
	
	
	
	
	
	
	

	
	X
	
	Y
	
	Z
	
	

	
	
	
	
	
	
	
	

	Nos. Sold (units)
	80,000
	
	100,000
	
	12,000
	
	

	
	
	
	
	
	
	
	

	Selling Price (ea)
	£1.25
	
	£1.20
	
	£7.50
	
	

	
	
	
	
	
	
	
	

	Total Unit Cost
	£1.30
	
	£1.21
	
	£6.00
	
	

	
	
	
	
	
	
	
	

	Profit/Loss (unit)
	£0.05
	
	£0.01
	
	£1.50
	
	

	
	
	
	
	
	
	
	

	Total Profit/Loss
	£4,000
	
	£1,000
	
	£18,000
	=
	£13,000

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	Product X

Total Sales

Value 

minus

Marginal (or variable) cost

of goods/services produced
yields 

CONTRIBUTION 
[image: image1.bmp]
	Product Y

Total Sales

Value

minus

Marginal (or variable) cost

of goods/services produced 
yields 

CONTRIBUTION 

	Product Z 

Total Sales

Value

minus

Marginal (or variable) cost

of goods/services produced 
yields 

CONTRIBUTION 



FUND

minus

FIXED COST 
LEAVES
 PROFIT 

	MARGINAL COST METHOD (I)
	
	

	
	
	
	
	
	
	
	

	
	PRODUCT
	
	

	
	
	
	
	
	
	
	

	
	X
	
	Y
	
	Z
	
	

	
	
	
	
	
	
	
	

	Nos. Sold
	80,000
	
	100,000
	
	12,000
	
	

	
	
	
	
	
	
	
	

	Selling Price (ea)
	£1.25
	
	£1.20
	
	£7.50
	
	

	
	
	
	
	
	
	
	

	Variable Cost (ea)
	£0.90
	
	£0.95
	
	£4.20
	
	

	
	
	
	
	
	
	
	

	Contribution (ea)
	£0.35
	
	£0.25
	
	£3.30
	
	

	
	
	
	
	
	
	
	

	Contribution (Total)
	£28,000
	
	£25,000
	
	£39,600
	=
	£92,600

	
	
	
	
	
	
	
	

	
	
	
	
	   Fixed costs
	
	£79,600

	
	
	
	
	
	
	
	

	
	
	
	
	     
	Profit
	
	£13,000

	
	
	
	
	
	
	
	

	Contrib. Ratio
	28%
	
	20.80%
	
	44%
	
	

	
	
	
	
	
	
	
	


	MARGINAL COST METHOD (II)
	
	
	
	

	
	
	
	
	
	
	
	

	
	PRODUCT
	
	

	
	
	
	
	
	
	
	

	
	X
	
	Y
	
	Z
	
	

	
	
	
	
	
	
	
	

	Nos. Sold
	40,000
	
	50,000
	
	18,000
	
	

	
	
	
	
	
	
	
	

	Selling Price (ea)
	£1.25
	
	£1.20
	
	£7.20
	
	

	
	
	
	
	
	
	
	

	Contribution (ea)
	£0.35
	
	£0.25
	
	£3.00
	
	

	
	
	
	
	
	
	
	

	Contribution (Total)
	£14,000
	
	£12,500
	
	£54,000
	=
	£80,500

	
	
	
	
	
	
	
	

	
	
	
	
	             Fixed costs
	
	£79,600

	
	
	
	
	
	
	
	

	
	
	
	
	
	Profit
	
	£900

	
	
	
	
	
	
	
	

	Contrib. Ratio
	28%
	
	20.80%
	
	41.7%
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KEY:	Total height = sales


	Shaded section – marginal cost


	Unshaded section = contribution





Note





Contrib per unit = SP-VC





Tot Contrib – FC = Profit
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